
od słupa do słupa
1 Stacja A/2 3 3 6 0 0
2 A/1 A/2 30 3 33 0 0
3 A/2 A/3 40 3 43 2 0
4 A/3 A/4 40 3 43 2 0
5 A/4 A/5 40 3 43 1 5
6 A/5 A/6 46 3 49 2 5
7 A/6 A/7 40 3 43 1 0
8 A/7 A/8 40 3 43 2 0
9 A/8 A/9 35 3 38 0 0

314 27 341 10 10
1 Stacja B/1 50 3 53 0 0
2 B/1 B/2 38 3 41 1 0
3 B/2 B/3 40 3 43 0 0
4 B/3 B/4 35 3 38 0 0
5 B/4 B/5 33 3 36 0 20
6 B/5 B/6 34 3 37 3 14
7 B/6 B/7 34 3 37 1 0
8 B/7 B/8 41 3 44 0 5
9 B/8 B/9 40 3 43 1 5

10 B/9 B/10 38 3 41 2 2
11 B/10 B/11 51 3 54 3 12
12 B/11 B/12 18 3 21 3 0
13 B/12 B/13 33 3 36 1 0
14 B/13 C/12 37 3 40 1 0

522 42 564 16 58
1 Stacja C/1 78 3 81 1 12
2 C/1 C/2 40 3 43 1 0
3 C/2 C/3 40 3 43 1 0
4 C/3 C/4 40 3 43 1 0
5 C/4 C/5 40 3 43 3 10
6 C/5 C/6 47 3 50 2 8
7 C/6 C/7 40 3 43 1 0
8 C/7 C/8 45 3 48 1 0
9 C/8 C/9 40 3 43 0 10

10 C/9 C/10 40 3 43 2 0
11 C/10 C/11 40 3 43 0 8
12 C/11 C/12 47 3 50 1 7

537 36 573 14 55

1373 105 1478 40 123

1414,19

L.p.
Odcinek linii

Razem obwód 1

Razem obwód 2

Razem obwód 3

Razem długość kabla 
+3%

Razem długość 
wykopu

Zapasy 
kabla

Rury kolizje Rury drogi
Długość 

kabla
Długość 
wykopu



1519,19
razem 

przepustów
163

Razem cała długość 
kabla (wykop+3%+ 

zapasy przy lampach)


